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2t = FEAZOAOH | ZEOJAE | I 2t = FEACOlAOH | SEOIAOH | B2
EPSET .
1 2o gAaHIE+ 19,200,000 19,200,000 - AH2HI g2 =4bl 9,141,880 9,150,000 8,120
2 2 X+ 107,348,140 113,962,000 6,613,860 AHR2H| 2l 13,093,489 6,393,000|- 6,700,489
3 SES+Y SE=s+Y 500,000 500,000 - AHSHI il sl 105,169,400 | 111,262,000 6,092,600
4 JEE! JEE! 6,427,649 - |- 6.427,649]  Ar2tt] 2l 9,111,181|  8,300,000(- 811,181
5 &g &= 1,564,861 1,443,000 | - 121,861 ArHH] At 3,890,900 7,500,000 3,609,100
6 B3 I 10,000,000| 8,000,000 |- 2,000,000 H&HEAY| Al bl 4,599,800 500,000~ 4,099,800
7 BrEt = Bret= 34,000 - 34,000
Mg A 145,040,650 | 143,105,000 |- 1,935,650 N[ESEI] 145,040,650 | 143,105,000|- 1,935,650
M2 AA M2g 12 Mi1oxCfatel By 8 ZEEXHO 2fA 2024 At=|SX|ElohE MESY oS fIet 20|
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